ROYAL HERALDIC საქართველოს სამეფო COLLEGE of GEORGIA კაკა პერალდიკური კოლეჯი

Pricelist of Services 2025

1. Grants & Registrations				
Grants of new emblems and Registrations of existing heraldic devices	Georgian Citizens & Residents	Non-Georgians		
1.A.1. Grant of Arms Armorial Achievement, Badges, Flags, and other emblems [*]	350€ per achievement	700 € per achievement		
1.A.2. Registration of Existing Arms Armorial Achievement, Badges, Flags, and other emblems* that have been granted by a recognized heraldic authority**	250€ per achievement	500€ per achievement		
1.B. Cadet shields When applicable; this is rarely requested.*	35€ per shield	75€ per shield		
1.C. Preliminary concept sketches The College guides and supports petitioners throughout the process but does not cover artist fees beyond rough sketches.	0€ (included) The initial rough concept sketches of your heraldic emblem are included. However, excessive revisions may incur charges.			
1.D.1. Exemplification (simple) A straightforward painting of your arms that is kept for our records, and is added to letters patent Options A and B.	480€ (or USD\$500) This fee is paid separately to Herald Master Kingsley			
1.D.2. Exemplification (complex) A fully-detailed painting of your arms that is kept for our records, and is added to letters patent Options A and B .	670€ (or USD\$700) This fee is paid separately to Herald Master Kingsley			
1.E. Letters Patent Option A Default signed and sealed 8½ x 11" multi-page document	0€ (included)			
1.F. Letters Patent Option B A professionally printed 11x14" document featuring digital typography with a Georgian motif decorative border designed by Tania Crossingham. Ideal for framing or elegantly stored in the included padded, embossed document holder.	500€ (or USD\$570) (shipping included) This fee is paid separately to Herald Master Kingsley			
1.G. Letters Patent Option C An illuminated manuscript in the medieval tradition on calfskin vellum, hand painted and engrossed by Tania Crossingham, Honorary Herald Painter of the Royal House of Georgia.	Prices are determined by the complexity of the design, ranging from 2,100 € to 6,700 € (excluding VAT for EU clients) plus shipping. This service is paid separately to Tania Crossingham.			

ROYAL HERALDIC საქართველოს სამეფო COLLEGE of GEORGIA კა პერალდიკური კოლეჯი

1.H. Tax	18% VAT	N/A
* In the event of a petition requesting a large number of emblems or highly (o	mplex emblems, such as multiple quarters, the C	ollege reserves the right to levy a surcharge

In the event of a petition requesting a large number of emblems or highly complex emblems, such as multiple quarters, the Coulege reserves the right is included the heraldic bodies of non-regnant Royal Houses recognized by the Royal House of Georgia

2. Augmentations & Grants of Additional Emblems

The fees listed **below** apply to armigers who have previously been granted or registered their arms *through the Royal Heraldic College of Georgia*; for all others, the fees in the table **above** apply.

Augmentations are modifications (such as adding supporters or coronets of rank) <u>made to</u> your coat of arms due to a change in status Grants of additional emblems are new emblems (like flags and badges) granted <u>in addition to</u> your coat of arms.

Augmentations	Georgian Citizens & Residents	Non-Georgians
2.A. Augmentation of Arms*	75€	150€
2.B. Augmentation of Crest or Additional Crest*	50€	100€
2.C. Cadet shields (when applicable)	75 € per shield	150 € per shield
2.D. Coronet of Rank	15€	30€
2.E. Mantle	50€	100€
2.F. Supporters, compartment, and other additaments*	80€	160€
2.G. Grant of Additional Emblems: Badges, Flags,	80€ per badge or flag	160 € per badge or flag
2.H. Preliminary concept sketches The College guides and supports petitioners throughout the process but does not cover artist fees beyond rough sketches.	0€ (included) The initial rough concept sketches of your heraldic emblem are included. However, excessive revisions may incur charges.	
2.I.1. Exemplification (simple) <i>A straightforward painting of your arms that is kept for our records, and is added to letters patent Options A and B.</i>	480€ (or USD\$500) This fee is paid separately to Herald Master Kingsley	
2.I.2. Exemplification (complex) A fully-detailed painting of your arms that is kept for our records, and is added to letters patent Options A and B .	670€ (or USD \$700) This fee is paid separately to Herald Master Kingsley	
2.J. Letters Patent Option A	$0 \in (included)$	

ROYAL HERALDIC COLLEGE of GEORGIA



2.M. Tax	18% VAT	N/A
2.L. Letters Patent Option C An illuminated manuscript in the medieval tradition on calfskin vellum, hand painted and engrossed by Tania Crossingham, Honorary Herald Painter of the Royal House of Georgia.	Prices are determined by the complexity of the design, ranging from 2,100 € to 6,700 € (excluding VAT for EU clients) plus shipping. This service is paid separately to Tania Crossingham.	
2.K. Letters Patent Option B A professionally printed 11x14" document featuring digital typography with a Georgian motif decorative border designed by Tania Crossingham. Ideal for framing or elegantly stored in the included padded, embossed document holder.	500€ (or USD\$570) (shipping included) This fee is paid separately to Herald Master Kingsley	
Default signed and sealed 8½ x 11" multi-page document		

** Includes the heraldic bodies of non-regnant Royal Houses recognized by the Royal House of Georgia

3. Payment

Once payment is required, the College will provide you with payment details and options.

UPDATED 25 APRIL 2025

ROYAL HERALDIC საქართველოს სამეფო COLLEGE of GEORGIA კილეჯი

Letters Patent Options

The actual products may vary slightly in appearance from the images.

Option A

A default signed and sealed 8¹/₂" x 11" multi-page document granting your arms:



ROYAL HERALDIC საქართველოს სამეფო COLLEGE of GEORGIA კილეჯი

Option B

A professionally printed 11"x14" document featuring digital typography with a Georgian motif decorative border designed by Tania Crossingham. Ideal for framing or elegantly stored in the included padded and embossed document holder:



ROYAL HERALDIC საქართველოს სამეფო COLLEGE of GEORGIA კილეჯი

Option C

Illuminated manuscript in calfskin vellum handpainted and engrossed by Tania Crossingham, Honorary Herald Painter of the Royal House of Georgia. There is artistic license and flexibility in terms of the design features and format. Some examples are shown below.

